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Put the title  Textiles – The Impact  into your exercise book.
Study the information on the webpage, then:

Task One: 
1.
Discuss with a partner how Source 1 explains how the Textile Industry sparked off the Industrial Revolution.  


Then, working on your own, write 100-or-so words on: ‘How, according to Peter Moss, the Textiles Revolution caused the Industrial Revolution’.


Compare your explanation with your partner’s, and improve/correct your as necessary.


Only finally look at the answer below to see how Peter Moss himself explained it.

2.
Working in a small group, using resource sheet ET6, cut out the 12 effects and analyse/arrange them:
· In order of importance/ impact

· By date of impact (where a date is not given, you will have to use your knowledge to judge an appropriate place in the sequence)

· Into ‘areas of effect’ (e.g. you might put ‘Size’ and ‘Exports’ together into the area: ‘Effect on the Economy’ etc.)

· Other ways?
3.
Working again with your partner, look at the arguments advanced in Sources 2 and 3 to suggest that cotton was not a cause of the Industrial Revolution:

· Make a list of the different arguments Deane and Clare make
· Compare where the arguments contradict your list of impacts; which do you believe?
Task Two: 
1.
Working as a whole class, discuss the statements: 

· “The Textiles Revolution had a huge impact on the Industrial Revolution.”

· “Textiles was the pathfinder industry of the Industrial Revolution.”
· “The Textiles Revolution caused the Industrial Revolution.”

ANSWER TO QUESTION 1

This is how Peter Moss explained in History Alive 3 how the Textiles Revolution caused the Industrial Revolution’:
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FFHIEEI IMPACT OF THE TEXTILES INDUSTRY





	a.  SIZE:
By 1851 the textiles industry (cotton, wool, linen & silk) comprised 21% of the working population and created 10% of the entire national income.  In 1871 the Factory Inspectorate found that 47% of the country’s 130,000 factories and workshops were engaged in the Textile Industry, which accounted for more than half the steam power capacity of British factories.  ANY industry so huge was bound to have a massive effect on the rest of the economy. 
	b.  SOCIAL EFFECTS:
The invention of the power-loom was disastrous for the hand-loom weavers, who became very poor and overworked as they struggled to work as fast as the new machines.  The Textile Industry suffered from economic cycles of boom and bust, which created times of mass unemployment poverty and hunger.  Groups of disaffected people called ‘Luddites’ blamed the machines, and there were riots, attacks on factories and incidents of machine-breaking. 

	c.  ENGINEERING and CHEMICALS:
The new machines – and the need to make and maintain them – created a whole new industry, the Engineering Industry, which later applied its skills to other industrialising sectors.  Also Bleaching and Dyeing helped create the Chemical Industry. 
	d.  FACTORY SYSTEM:
An entire workforce had to be trained and disciplined to go out to work in the factories – a whole new way of ‘working to the bell’ (which you probably still do in your school) changed the way for ever how the workforce worked. 

	e.  SPENDING POWER:
The price of cloth fell by half in real terms in the period 1770-1815, and then by 4% a year after that.  This allowed a better-clothed and healthier population, with more money in their pockets to spend on other things. 
	f.  REDISTRIBUTION OF INDUSTRY:
The cotton industry was centred on Lancashire, the Woollen & Worsted industry on West Riding; the new Industrial complex set up on the coalfields of the north, leaving the south of the country behind.

	g.  URBANISATION:
Whole new towns grew up around the new industry; Manchester (nicknamed ‘Cottonopolis’) tripled in size.  Liverpool became the main export port for both cotton and wool – it doubled in size 1770-1800. 
	h.  TRADE UNIONS:
The Textile Industry created the first mass-employed workforce; it also treated them very badly.  One of the first large unions, the 1829 Grand General Union, was formed by Lancashire cotton-spinners. 

	i.  EXPORTS:
Textiles accounted for a tenth of the national income and a massive 60% of Britain’s exports; this gave Britain a huge balance of payments surplus which benefited the economy as a whole. 
	i.  LEGISLATION:
Poor working conditions, particularly for children, were first noticed in the factories, so the Textiles Industries were the first industry to be subject to inspections and rules about conditions (1832). 

	k.  CANALS:
The Bridgewater Canal (1779) was built to take coals to Manchester, and the Irwell Navigation was extended after 1779 to take cotton from Manchester to Liverpool. 
	l.  EXAMPLE:
The cotton industry was a model for the rest of the world – the assumption that wealth is created by large-scale industrialisation and production in factories. 
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